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Solving Sequence

o

6,11 >5-10>4->12>9—>3—>8—>1—>2—> 7 C2,C
Cs Cip C4 €11 Cg C3 Cg Ci2 (1 Ccr

A knot diagrarrﬂ
Ideals for irreducible component#ﬂ)f Xpar

It = - o fut1)

* 1 irreducible components of dim¢ = 0, with total 65 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u% —ub+..-.+u+1)

(i) Arc colorings

az =

wl® — 6uld + 14wt — 1442 + 207 + 6u® — 2u® — 2u
wl” — Tul® 4+ 1903 — 2241 + 30 + 1447 — 6u® — 4w + u

ag =

u2510u23+~'-+4u3+u>

a; = U27—11U25+"'—U3+U
—utT +20u?S + - — 8ud + 14u?
az = wT—19uP + - —duP +u
b — 14u33 + .- — 5ud — 2u
ar = \ w3 —15u®® + - = Tud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u% + 104u%! + -+ — 8u + 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u +37u% + . 4 Bu+ 1
c2,Ce u% — w4 3u—1
€3 u® —u® 4. — 975 — 1789
C4, C5, C10 u a4 u—1
c7,Cg,C12 u® —3ut 49T —7
¢y, C11 u® —3u% . — 1590 4+ 77




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 Y% =17y ... - 23y — 1
€2, C6 Yy =37y By — 1
¢ 65 64
3 y>° +23y°° + -+ - — 57349307y — 3200521
C4,C5, C10 Y% —53y% + ..+ By —1

C7,C8,C12 Y%+ 71y% - 1 3781y — 49

cy, €11 Y% + 475 + ... 4 71481y — 5929




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

= —0.094573 + 0.8340981

—13.51750 — 0.448031

—2.98623 + 0.175071

= —0.094573 — 0.8340981

—13.51750 + 0.448031

—2.98623 — 0.175071

= —0.106309 + 0.8317801

—13.1248 — 9.97801

—2.29837 + 6.379761

= —0.106309 — 0.8317801

—13.1248 + 9.97801

—2.29837 — 6.379761

0.100233 + 0.8285091

—9.52777 + 5.067821

0.64782 — 3.342961

= 0.100233 — 0.8285091

—9.52777 — 5.067821

0.64782 + 3.342961

1.160000 + 0.2993391

—1.25708 — 2.566861

0

= 1.160000 — 0.2993391

—1.25708 4 2.566861

0

= 0.044240 + 0.7914201

—6.38103 4 0.218711

—4.02948 + 0.024861

= 0.044240 — 0.7914201

—6.38103 — 0.218711

—4.02948 — 0.024861

= —1.151480 + 0.3839521

—9.92789 + 5.590711

0

= —1.151480 — 0.3839521

—9.92789 — 5.590711

0

= 0.101141 + 0.7768341

—4.45615 + 6.506291

0.43803 — 8.008851

= 0.101141 — 0.7768341

—4.45615 — 6.506291

0.43803 + 8.008851

= 1.159270 4+ 0.3789761 —6.28819 — 0.709221 0
= 1.159270 — 0.3789761 —6.28819 4 0.709221 0
= —1.166850 + 0.3855371 —10.23340 — 3.947331 0
= —1.166850 — 0.3855371 —10.23340 + 3.947331 0

= —0.078114 + 0.7548041

—2.51311 — 2.381801

3.80371 + 3.489351

= —0.078114 — 0.7548041

—2.51311 4 2.381801

3.80371 — 3.489351

fl|g|R|g |22 |e|g|g|g|2(g|g|g|r|g(g|g|g|g |-

= —1.210410 + 0.2852301 0.91435 — 1.388241 0
= —1.210410 — 0.2852301 0.91435 + 1.388241 0
u = —1.25678 2.32752 0
uw= 1225780+ 0.3376811 —2.74836 + 3.857481 0
u= 1225780 — 0.3376811 —2.74836 — 3.857481 0
u = —0.048386 + 0.6849591 —1.42383 — 1.843641 4.80084 4 4.678211
u = —0.048386 — 0.6849591 —1.42383 4 1.843641 4.80084 — 4.678211
u = —1.287820 + 0.2693881 2.46404 — 1.516771 0
u = —1.287820 — 0.2693881 2.46404 + 1.516771 0
u= 1307270 + 0.2964981 2.83926 + 5.432891 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 1307270 — 0.2964981 2.83926 — 5.432891 0
u = —1.296820 + 0.3449261 —2.19604 — 4.314671 0
u = —1.296820 — 0.3449261 —2.19604 + 4.314671 0
u= 1.348140 + 0.0188431 6.21518 4 0.453221 0
u= 1.348140 — 0.0188431 6.21518 — 0.453221 0
u = —0.460545 + 0.4488481 —7.99941 — 6.332511 0.97978 4+ 6.997111
u = —0.460545 — 0.44884871 —7.99941 + 6.332511 0.97978 — 6.997111
u= 1.318160 + 0.3255461 1.86620 + 6.293341 0
u= 1.318160 — 0.3255461 1.86620 — 6.293341 0
u = —1.357310 + 0.0468141 4.98134 — 4.450571 0
u = —1.357310 — 0.0468141 4.98134 4 4.450571 0
u = —1.360890 + 0.1095231 1.21860 — 3.402831 0
u = —1.360890 — 0.1095231 1.21860 + 3.402831 0
u=1.359500 + 0.1264021 —2.55503 — 1.021331 0
u = 1.359500 — 0.1264021 —2.55503 + 1.021331 0
u = —0.424540 + 0.4689157 —8.11205 + 2.964501 0.512038 + 0.5901161
u = —0.424540 — 0.4689151 —8.11205 — 2.964501 0.512038 — 0.5901161
u = —1.329800 + 0.3359201 0.03580 — 10.528401 0
u = —1.329800 — 0.3359201 0.03580 + 10.528401 0
u= 1373990 + 0.1093821 —2.26088 + 8.106391 0
u=1.373990 — 0.1093821 —2.26088 — 8.106391 0
u=0.434819 4 0.4428211 —4.36631 + 1.635151 4.04889 — 3.954601
u=0.434819 — 0.4428211 —4.36631 — 1.635151 4.04889 + 3.954601
u= 1331870+ 0.3684741 —9.04383 + 4.773981 0
u= 1.331870 — 0.3684741 —9.04383 — 4.773981 0
u = —1.334750 4 0.3642721 —5.02433 — 9.360811 0
u = —1.334750 — 0.3642721 —5.02433 + 9.360811 0
u = 1.338820 + 0.3655041 —8.5870 + 14.28691 0
u= 1.338820 — 0.3655041 —8.5870 — 14.28691 0

u= 0.466465 + 0.2496121

—0.58098 + 3.598211

5.77066 — 8.879951




Solutions to I

V=1(vol + v=1CS)

Cusp shape

= 0.466465 — 0.2496121

—0.58098 — 3.598211

5.77066 + 8.879951

= 0.188336 + 0.3890341

—1.44853 — 1.186731

0.463992 + 0.2194401

0.188336 — 0.3890341

—1.44853 + 1.186731

0.463992 — 0.2194401

= —0.421061 + 0.0808521

0.842001 — 0.1371991

12.42572 4- 1.522191

u
u
u
u
u

= —0.421061 — 0.0808521

0.842001 + 0.1371991

12.42572 — 1.522191




II. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 u® +37ub 4 4+ Bu+ 1
c2, Co u% — w4 3u—1
C3 u® —u% 4. — 975y — 1789
C4,Cs, C10 w4+ utt o u—1
C7,C8,C12 u% — 30 -+ 9Tu - 7
Cy, C11 u® —3utt 4. — 159u + 77




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y® =17y - - 23y — 1
c2, Cg y® — 37y 4+ 45y —1
€3 y% +23y5 + ... — 57349307y — 3200521
C4, C5, C10 Y% — 535 .. £ 5y —1
€7, Cs, C12 Y% 4+ T1y% -+ 3781y — 49
Co, C11 Y% 4+ 47y + ... + 71481y — 5929




